re ry G

Cc a/Z t" b
ry /hr
P /
t
Cc. n a b
A
60 60
A ri C; ry
C, 347.1 /7 t+* 1502
r. R 5.3134/t*3
Cs
Cc a/Z t" b
0.87 0.71 0.74 0.88
17.829 8.693 10.687 17.137
12.480 6.260 8.530 10.371
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0.87 0.71 0.74 0.88
17.829 8.693 10.687 17.137
12.480 6.260 8.530 10.371|Ct=347.1/ r/r =

(t-%+1502)| 5.3134/t#®
10 0.896 0.763 0.762 0.954 0.2277 1.1447
15 0.774 0.664 0.670 0.808 0.2253 0.8736
20 0.685 0.593 0.604 0.704 0.2226 0.7211
25 0.616 0.540 0.552 0.626 0.2198 0.6215
30 0.561 0.498 0.511 0.565 0.2168 0.5503
35 0.516 0.464 0.477 0.516 0.2138 0.4966
40 0.479 0.435 0.448 0.475 0.2107 0.4543
45 0.447 0.410 0.423 0.441 0.2075 0.4200
50 0.419 0.389 0.402 0.412 0.2043 0.3915
55 0.395 0.370 0.383 0.386 0.2011 0.3674
60 0.374 0.354 0.366 0.364 0.1979 0.3467
65 0.355 0.339 0.351 0.344 0.1948 0.3287
70 0.338 0.326 0.337 0.327 0.1916 0.3128
75 0.323 0.314 0.324 0.311 0.1884 0.2988
80 0.309 0.303 0.313 0.297 0.1853 0.2862
85 0.296 0.293 0.303 0.284 0.1823 0.2748
90 0.285 0.283 0.293 0.273 0.1792 0.2646
95 0.274 0.275 0.284 0.262 0.1762 0.2552
100 0.264 0.267 0.276 0.252 0.1733 0.2466
105 0.255 0.260 0.268 0.243 0.1704 0.2387
110 0.247 0.253 0.261 0.235 0.1675 0.2314
115 0.239 0.246 0.254 0.227 0.1647 0.2247
120 0.232 0.240 0.248 0.220 0.1620 0.2184
125 0.225 0.234 0.242 0.213 0.1593 0.2125
130 0.219 0.229 0.236 0.207 0.1566 0.2071
135 0.213 0.224 0.231 0.201 0.1540 0.2019
140 0.207 0.219 0.226 0.195 0.1515 0.1971
145 0.202 0.215 0.221 0.190 0.1490 0.1925
150 0.197 0.210 0.217 0.185 0.1466 0.1882
155 0.192 0.206 0.212 0.180 0.1442 0.1841
160 0.187 0.202 0.208 0.176 0.1418 0.1803
165 0.183 0.199 0.204 0.172 0.1395 0.1766
170 0.179 0.195 0.201 0.168 0.1373 0.1731
175 0.175 0.192 0.197 0.164 0.1351 0.1698
180 0.171 0.188 0.194 0.160 0.1330 0.1667
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12.480

0.87 a=17.829 b

n=

6.260

0.71 a= 8.693 b

n=

=10.687 b= 8.530

0.74 a

n=

0.88 a=17.137 b=10.371

n=

347.1/(tM1.35+1502)
5.3134/t7(2/3)
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